TOTAL

3,979.00

2,219.50



3795 Collins Road | Gillette, WY 82718 307.682.5193 | Fax: 307.686.2145

www.collinscom.net

115

OTY

10

10

TO: CCSD DISTRICT WIDE SECURITY

ATT: Brandon Mehling ATTN: Sandi Kinnear

P.O. Box 3033

C20294

C21423

Gillette, WY 82717

WE ARE PLEASED TO QUOTE YOU THE FOLLOWING:

DESCRIPTION

PAINTBRUSH ELEM ACCESS CONTROL UPDATE WITH DOOR SUPERVISION

VRINX READER INTERFACE

MT11 MULLION READER

QUOTATION

QUOTE NO.: 71694 - 00

DATE: 8/27/21

TERMS: NET 30

DELIVERY:

Please reference Quote No. on Correspondence & purchase orders.

Prices firm for 30 days.

UNIT PRICE

397.90

221.95

Telephone No. 307-299-3303

10	0 C22141	958003 V-D QEL BASEPLATE CONV KIT 3'	653.79	6,537.98
7 <u>6</u> 10	0 C19095	947-75TWH CONTACT W/TERM STEEL DOOR WHITE	7.69	76.94
	3 C22205	BB1168XETW8 5X4.5 US26D HINGE HAGER	210.53	631.59
3000	0 C22063	H91602 BANANA CABLE CMP TAPAN	.71	2,139.00
	C10020	PW-PS1270 BATTERY 12V SEALED 7 AMP POWER SONIC ued on following page	18.38	73.55
ORDERS	SUBJECT TO SHIPPING & HANDI	LING AND SALES TAX IF APPLICABLE	TERMS SUBJ	ECT TO CREDIT REVIEW
BY				
- ch-sa	THIS QUOTATION DOES NOT C	CONSTITUTE A SALES ORDER UNLESS SIGNED BY YOU, OUR CLIENT.	:-	
Accept				
by			P.O. No.	
	LEGAL NAME OF PURCHASER			
			Date	
	AUTHORIZED SIGNATURE			

- W-1				
QTY		DESCRIPTION	UNIT PRICE	TOTAL
1 :				
1	MISC MATERIALS	MISC HARDWARE & WIRE MOLD ON ALL EXTERIOR DOORS	2,500.00	2,500.00
1	USE TAX	USE TAX	1,000.00	1,000.00
1	FREIGHT	FREIGHT	1,000.00	1,000.00
99		Field Labor separate line items for labor, ight, and use tax if applicable	75.00	7,425.00
1.5			Item summary	27,582.56
Comments			Subtotal	27,582.56
10				
2			Sales Tax GRAND TOTAL:	.00 27,582.56
and the state of t				
The same of the sa				
and the state of t				
and the same of th				
A. C. Land				

Collins Communications, Inc. Empowering the Wireless Generation Phone: 307-682-5193

COLLINS

3795 Collins Road | Gillette, WY 82718 307.682.5193 | Fax: 307.686.2145 www.collinscom.net

115

TO: CCSD DISTRICT WIDE SECURITY

ATT: Brandon Mehling ATTN: Sandi Kinnear

P.O. Box 3033

Gillette, WY 82

WE ARE PLEASED TO QUOTE YOU THE FOLLOWING:

QUOTATION

QUOTE NO.: 71692 - 00

DATE:

8/27/21 NET 30

TERMS: DELIVERY:

Please reference Quote No. on Correspondence & purchase orders.

Prices firm for 30 days.

Telephone No. 307-299-3303

QTY		DESCRIPTION	UNIT PRICE	TOTAL
16 .		SAGE VALLEY JH ACCESS CONTROL		
in the second		DOOR UPGRADE WITH SUPERVISION		
7	C20294	VRINX READER INTERFACE	397.90	2,785.30
7 7	C21423	MT11 MULLION READER	221.95	1,553.65
7	C22141	958003 V-D QEL BASEPLATE CONV KIT 3'	653.79	4,576.59
52	C21100	SR-2505AL SURFACE MOUNT ALUM 3 CAP	30.47	1,584.70
1	C21577	SMS-10ALS POWER SUPPLY 24VDC	438.15	438.15
7	C20233	VIONX-8 I/O EXPANSION BOARD	662.40	4,636.80
4	C10020	PW-PS1270 BATTERY 12V SEALED 7 AMP POWER SONIC Continued on following page	18.38	73.55
		Continued on lollowing page		

ORDERS S	SUBJECT TO SHIPPING & HANDLING AND SALES TAX IF APPLICABLE	TERMS SUBJI	ECT TO CREDIT REVIEW
and the			
BY			
5.1			
	THIS QUOTATION DOES NOT CONSTITUTE A SALES ORDER UNLESS SIGNED BY YOU, OUR CLIENT.		
Accepte	ed		
by		P.O. No.	
	LEGAL NAME OF PURCHASER		
		Date	
	AUTHORIZED SIGNATURE		

22,3470,03230/04100.101,69232

133

QTY		DESCRIPTION	UNIT PRICE	TOTAL
ŽII		2220		
1	MISC MATERIALS	MISC HARDWARE & WIRE MOLD FOR ALL EXTERIOR DOORS	5,000.00	5,000.00
1	USE TAX	USE TAX	1,100.00	1,100.00
1	FREIGHT	FREIGHT	600.00	600.00
225		Field Labor separate line items for labor,	75.00	16,875.00
	cost of goods, fre	ight, and use tax if applicable	Item summary	39,223.74
			Subtotal	39,223.74
			Sales Tax	.00
, , , , , , , , , , , , , , , , , , ,			GRAND TOTAL:	39,223.74
r×.				



3795 Collins Road | Gillette, WY 82718 307.682.5193 | Fax: 307.686.2145 www.collinscom.net

115

TO: CCSD DISTRICT WIDE SECURITY

> ATT: Brandon Mehling ATTN: Sandi Kinnear

P.O. Box 3033

Gillette, WY 82717

WE ARE PLEASED TO QUOTE YOU THE FOLLOWING:

QUOTATION

QUOTE NO.: 71693 - 00

DATE: 8/27/21 NET 30 TERMS:

DELIVERY:

Please reference Quote No. on Correspondence & purchase orders.

Prices firm for 30 days.

Telephone No. 307-299-3303

QTY		DESCRIPTION	UNIT PRICE	TOTAL
		RAWHIDE ELEM. ACCESS CONTROL UPDATE WITH DOOR SUPERVISION		
10	C20294	VRINX READER INTERFACE	397.90	3,979.00
10	C21423	MT11 MULLION READER	221.95	2,219.50
10	C22141	958003 V-D QEL BASEPLATE CONV	653.79	6,537.98
T 10	C19095	947-75TWH CONTACT W/TERM STEEL DOOR WHITE	7.69	76.94
3	C22205	BB1168XETW8 5X4.5 US26D HINGE HAGER	210.53	631.59
3000	C22063	H91602 BANANA CABLE CMP TAPAN	.71	2,139.00
4	C10020 Continued	PW-PS1270 BATTERY 12V SEALED 7 AMP POWER SONIC on following page	18.38	73.55
OND PROGRAM	BJECT TO SHIPPING & HANDLING A			T TO CREDIT REVIEW

BY

THIS QUOTATION DOES NOT CONSTITUTE A SALES ORDER UNLESS SIGNED BY YOU, OUR CLIENT.

Accepted by

LEGAL NAME OF PURCHASER

Date

P.O. No.

AUTHORIZED SIGNATURE

22.3470,03230/04100.011,69222 Collins Communications, Inc.

Empowering the Wireless Generation Phone: 307-682-5193

QTY		DESCRIPTION	UNIT PRICE	TOTAL
7.x. 53				
1	MISC MATERIALS	MISC HARDWARE AND WIRE MOLD ON ALL EXTERIOR DOORS	2,500.00	2,500.00
1	USE TAX	USE TAX	1,000.00	1,000.00
1	FREIGHT	FREIGHT	1,000.00	1,000.00
99		Field Labor separate line items for labor, ght, and use tax if applicable	75.00	7,425.00
13.	cope of goods, first	go, and abo out at appearance	Item summary	27,582.56
			Subtotal	27,582.56
			Sales Tax GRAND TOTAL:	.00 27,582.56
and the state of t				

Collins Communications, Inc. Empowering the Wireless Generation Phone: 307-682-5193